BoE M 6—3
(1983 10 1)

BASICL 6 s N BT K f o B & o St flisor® o v T
D RXK, KR (X 1R85 X)

1, gro=
nk Ll MR R BN

F2)=0,  T=(x, %, %Y, flf fu e £ (6D

FAERE, Mk, LDRXoREME LNz e @50, FORTRAN
Tr ol T e fle t AR oML v Er M1 ud, | v % 5,
HACRERcrv 11, R KA altxXfsr e, Sa BB Tt R
R e r BB e g ), HALREE AT s 2, —F, REDUCE 3[1]
Ronsser, EANFE et Yot s, vhoslimminoivviis
1;'}6]1: L, RP -2 BIIN200%, 115 o 36", 38fra LD EAiPitA
SroS vt eat ole, 1w, B s Rw¥E % — L, R
VL FORTRAN ) e X 232 (REDUCE 3) 21 BT 3 v 2 & 9( :t h g nq7 ) o F
IR k3 ) KB SHEARKETRA tbE L <Mernan.,s-
NAES ( Nenliyear A{;cbfaic Egua‘h‘o-ns Solver DERAZ L, RG5> 1w 2
123,45 1.

s, 243 >vad L vEB eMIE,7, BASICIREIELBE L~ > 5y,
TREINT, Th 3 v Ak 3R RB A ROIRNBTEA e =» o H
hiswwy -CofflE4fe s htuvar, 110, Ffesr v a, - a3
¥ Nss- BASIC Bl v T NAES o B8 HE e 1t > AFSy - OKUT ¢ Ml
T3> v edrtrace, 10 BhBl-nu1 BET 3,

2 OKUT oA 894 #k58 .
IRFIRBT BN L) HEIF R 92

$- 1, WMok - OKUT v 182Ra § 98 &

y, HX B UwHBWIR 1T % (Fl‘g.l-l % bR,

WME§, £2Lihe TEX c%&?ﬂntﬂil’{] STANAL . SYH

1%( BE ., structure ) & Boole 4731 & B) v ¢ £& ——

s v

@) o FEMTaE R, D THE1E ¢ %E\"i . DECDIF . 5YM
WEKo- v a B« cfhd « ndpH S DN E

MrszhPew, TENESL»#2, UDE LL.EUEiS’!S.Dﬁﬂ [LEVEL.DAT |

R EHATRARSIERLC A VBE -4 .
a0 R ¥RAECH SRR L
R n,

G ERBEr 122 - 235 B 3 L
Ae L, ) BN e pae 7 o33y

A e, BXRA G F IR, AR Fg.2.1. OKUTa AR
REGCEYRICT VI ERL 03 S50 3, -
€-Secarit & 7] =& 9 MY =31 G 1 3.

1)



WM b, 1, MR A e %, BREL AL FT sATHEN e =
2-tvgEe kY ﬁf<

YL v ﬁt& Al X (R .\-f&’ :j?ki"’: 51’, '4 *‘I’i’? L Ttuvd def,aﬁb‘u qlaorif})'ll [& 9]
At EFA KA,

3. =Bk ,
OKUT o B3R 1 | & 1 3 Myg-BASIC 0 £ % LFMiguRa & 5540 T
RGP

) CHR$K Fc &) P HE> atBat ey 77 - 13-V RS L
: PEx 3.
M LENKLF#D) T 1%3ladex s b,

(i) RIGHTS$ (X$,N) P X33 X abBe o NiBa L3 Eﬂz/ﬂ: 7.
) MID$ (X$ M N) © XA Xt XBe oMEBA LT -,7§o
NiB o X3 eFan &7,

V) LEFTH(¥X$,N) D3 X$ a B ey Nio L3 tH 14 q.
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10 REM #*%%% ORIGINAL EGQUATIONS (EQUATS.1, ASCII SAVED) ook

20 F(1)=X(1)"2-4%X(4)+3%X(7)+1

30 F(2)=-3*X(1)+X(5)"2-1

40 F(3)=5%X(3)-X{4) 3+X(6)-2%X(8)"2

50 F(4)=X(1)"2-2%X(5)"2+7 )
60 F(5)=24X(3)-3*X(8) :

70 F(8)=X(7)"3-8 ‘ 4.1)
80 F(7)=2%X(3)-6%X(&)"4

90 F(8)=X(10)"2-36

100 F(9)=X(2)+X(8)"2

110 F(10)=6%X(9)~2+X(10)"3

120 END
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1 REM *xidckk STRUCTURE ANALYSIS (STANAL.SYM) ok
3  DEFINT a-2Z

4 CLEAR 2000 !

5 DIM F$(20),X$(20),E(20,20),V(20,20),0F (20)

6 PRINT "INPUT THE DRIVE NO. AND FILE NAME OF THE EQUATIONS (ASCII SAVED) !'"
7 INPUT EQUATIONSS

10 OPEN EQUATIONS$ FOR INPUT AS #1

20 LINE INPUT #1,a4%

25 C$=llll

30 B$=A%$

35 D$="F("

40 IF LEFT$(B$,LEN(D$))<>D% GOTO 120

45 B$=RIGHT$(B$,LEN(B$)~LEN(D$))

50 IF LEFT$(B$,1)=")" GOTO 90

53 1IF ASC(LEFT$(B%,1))<8H30 OR ASC(LEFTS$(B$,1))>&H39 GOTO 150
60 C$=C$+LEFT$(B%$,1)

70 B$=RIGHT$(B%$,LEN(B$)-1)

80 GOTO 50

90 IF C$="" GOTO 150

95 IF CMAX<VAL(C$) THEN CMAX=VAL (C$)

100 F$(VAL(C$))=RIGHT$(B%$,LEN(B%)-2)

105 PRINT

110 PRINT "“f(";VAL(C$);")="3F$(VAL(CS)) :GOTO 150
120 IF LEN(B$)=0 GOTO 150

130 B$=RIGHT$(B$,LEN(B%)-1)

140 GOTO 40

150 IF EOF(1)=0 GOTO 20

160 CLOSE ’

165 REM x#*%x GENERATION OF THE EQUATION MATRIX E sokkxx
170 NX=CMaX

175 CMAX=0

180 FOR I=1 TO NX

182 X$(I)="X("+RIGHT$(STRS(I),LEN(STRE(I))~1)+")"
184 NEXT I

240 PRINT

320 FOR I=1 TO NX

340 FOR J=1 TO NX

350 IF INSTR(F$(I),X$(J)><>0 THEN E(I,J)=1

360 PRINT E(I,J);

390 NEXT J

400 PRINT

410 NEXT 1

Ff;. A1

f, ft 0 0 1 0 0 1 o0 0 o

f, {1 0 0 0o 1 0 0 o0 0 o

fg 0 0 11 0 1 0 1 o0 o

fg 1 0 0 0 1 0 0 ©o o0 o

E= f5 |0 0 1 0 0 0 0 1 0 o (4.2)

f, |00 0 0 0o 0 1 0 o0 o

f, f0 0 1 0 0 1 0 0 0 o

fa [0 0 0 0 0 0 0 0 o0 1

fg [0 1. 0 0 0 0 0 1 0 o
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i Fp g g F5 Fg Fp f
£f,[1 1 0 0 0 1 0 0]
f,l0 1 0 1 0 0 0 o
fgl1 0o 1 0 1 0 1 o
s> _ a0 1 0 10 0 0 o0 (4.6)
fs {0 0 1 0 1 0 0 0
f,l0 0 0o 0 0o 1 0 0
f,{0 0 1 0 0 0 1 0
fo [0 0 0 0 1 0 0o 1]
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f, [t 1 0 1 0 1 0 0] 4 1
f, {0 1 0 1 0 0 o o0 2 5 1-1
%3 1 1 1 1 1 1 1 0 7 -3
f£,10 1 0 1 0 0 o0 o0 2 5 1 g8)
qn_ fs |t 111111 o 7 -3 v
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T2 &Endtia A6 £ 1, (i) Jachean 173 6373 L, (V) £-Secart v
HET R a EX s KT 2 20 B % ¢ LEVEQS PAT ne- T 3,
TRALE~B23r®a7 P77 00 ~REFph2r +r LEVEQS MT o &
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5500 FOR J=1 TO LT

5510 XX$(J)=X$(OF (E(IST,J+3)))

5520 XCH(J)="X"+FNLE(STR$(J))

5530 NEXT J

5550 FOR K=1 TO LT :

5560 FC$(KI=FE(E(IST,K+3)

5570 FOR J=1 TO LT

5580 INS=INSTR(FCH(K),XX6(J))

5590 IF INS=0 GOTO 5620 : ‘
5600 FC$(K)=LEFTH(FC${K), INS—1)+XCH(I)+RIGHT$(FCH(K) ,LEN(FCH(K) )— LEN(XX$(J))-IN
S+1) .

5610 GOTO 5580 ’ ‘
5620 NEXT J

5630 NEXT K

5700 FOR I=1 TO LT

5710 LIN$=FNL$(STR$(LC))+" DEF FNF"+FNL$(STR&(I))+"("

5720 FOR J=1 TO LT )

5730 IF J>1 THEN LIN$=LIN$+","

5740 LIN$=LIN$+XC$(J)

5750 NEXT J

5760 LIN$=LIN$+")="+FC$(I)+CR%

5770 PRINT #1,LIN$:LC=LC+10

5780 NEXT 1

Fu‘g. 4.2
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990 ON IST GOSUB 1000,2000,3000,4000,5000,6000,7000: RETURN

1000 ON JSF GOSUB 1010,1070,1200,1230, 1260:RETURN

1010 DEF FNF1(X1,X2)=-3%X1+X2"2-1

1020 DEF FNF2(X1,X2)=X172-2%X2°2+7

1030 PRINT #1," SOLVE f2 f4 about x1 x5"

1040 INPUT "symbolic dif yes=1 / no=0";JF

1050 INPUT " X(1) X(5)"3XL(1),%XL(2)

1053 PRINT #1,"initial guess " s SPRINT #1,"  X(1)="3;:PRINT #1,USING "+#.### 0y
XL(1), :PRINT: #1," X(S)*”;:PRINT #1, USING "+, ###AA“‘“'XL(2), :

1056 PRINT. #1, ’

1060 RETURN

1070 IF JF<>1 GOTO 1130

1080 A(1,1)=-3

1090 A(1,2)=2%XL(2)

1100 A(2,1)=2%XL(1)

1110 A(2,2)=-2*2%XL(2)

1120 GOTO 1200

1130 IF XL(1)>>1 THEN DD=DE*XL (1) ELSE DD=DE

1140 A(1,1)=(FNF1(XL(1)+DD,XL(2))-FNF1{XL(1),XL(2)))/DD

1150 AC2,1)=(FNF2(XL(1)+DD, XL (2))-FNF2(XL (1) ,XL(2)))/DD

1160 IF XL(2)>1 THEN DD=DE*XL(2) ELSE DD=DE -

1170 A(1.2)=(FNF1(XL(1),XL(2)+DD)—FNF1(XL(1),XL(Z)))/DD

1180 A(2,2)=(FNF2(XL(1),XL(2)+DD)-FNF2(XL(1),XL(2)))/DD

1200 F(1)=FNF1(XLC1),XL(2) )

1210 F(2)=FNF2(XL (1) ,XL(2))

1220 RETURN

1230 PRINT #1,"in loop ",:PRINT #1," X(1)="3:PRINT #1,USING "+#.### "~~~ " XL (1),
¢tPRINT #1," X(S)‘““PRINT #1,USING "+#. ###A“A“”'XL(Q),

1240. PRINT #1,

1250 RETURN

1260 PRINT #1,:PRINT #1," ANS"

1270 PRINT #1,"X(1)="3sPRINT #1,USING “+#. HHHBHHSN AL (D) X (1) =XL L)
1280 PRINT #1,"X(5)="3:PRINT #1,USING "+#.H###### "X (2) 1X(5)=XL (2)
1290 PRINT #1,

1300 RETURN
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mun
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BO03 Fa="( (X (1) F+X{2r+1)"4+3) % (X A3)+2) "1 X$="X (1)
— Ok :
Ex. 3 ‘ : . e
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1, Cl=( Fas{X{1"3+ {21+ (X (3)+2) KE= (2= Lk=1 Fl=
1. Ci=(¥ FI=X{1)°3+X {2 +11%(X(3)+2) KE= (2= Lk= 1 F ==
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P
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Fa="3+4{2)+1) # (X {3}+2) Rike= O HKE=X (13
Fa="3+X (2}+1)# (X {3)+2) RE= O RE={{{1}
Fr=3+3(2)+13% (X {3)+2) Lk= 1 KE=(X{1)* (&= LK=
Fo=+¥ {2311 % {(3)+2) LRK= 1 KE={{(1}"3 (&= LK=
Fa=¥{2)+11® (X {33+2) ik= 1 KE={¥{1¥"3+ (2= LK=

Fr={2y+11# (X (31+2) LE= 1 RE={X{1}"3+% (2

Fe=21+13#{X(3)+2) LK= 2 WE= (¥ (1) 3+%{
Fe=)+1)#{X{3)+2) k= =2 RE=({X{1}~3+X (2 L=
= Fo=+1)#{X(31+2) Lk= 1 RE={X (11 "3+4(2) 2= LK=
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= Fe=)#{X{31+2) LK= 1 RE= (X (11"3+X{2)+1 CZ= LK= Fh=
= Fr=#{¥{3)+2} LK= O RE={{{1)"3+X(21+1) Lk= 0 Fh=
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KE={X{1)"3+X{2)+1) 2=%  LK= 0 Fh= PO=
RE={X{1)" ') Lik= 1
RE={X{11"3+¥ (2} +1] L=
KE= (X {1)"3+¥4 (2 +1) L= 2
KE= (¥ (1y"3+¥{21+1) C2=%{X(3 Lk= Z
KE={¥{13"3+X (D) +1)  {2=%{X{3) LK=

KE= (£ {13345 {21 +1) Z=w (X {31+ LK=
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i
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7. C1= : KE= (4 (41340021 +13  C2=%(X(D+2 Lk= 1 Fh= PO=
7. Ci= Fo= KE={(X{1)"3+¥{21+1) CI=#(X(3)+Z) LK= 0 Fh= FPQO=

9. NES= 1 PO= 0  F2=X(1)"3+X(Z)+1  C2=¢({(3)+E) FD=
1= Fr=g(1)~34X (341 KE=(X(1)°3+X(2)+1)  CE=(X(3)+2) LK= 0 FD=(X(3)+2)#

X FE=X{l)"3+X(2)+1 HE=(X(1)“3+X(2)+1) Ci= LK= O Fh={X{3)+2)#(
1a. Ci=X P=c34X {2341 KE=(X{1)"3+X{(2)+1) (2= Lk= 0 Fh={A(3)+2)%{
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6. PO= 3 Fi= +X{2)+1 KE=X(1)

11, Ci= F2=+X{(2)+1 KE=X{(1) C(Z= LK= 0 FO=(X(3)+2) % (3*X (1) (3-1) PO=3
1. Cl=+ FI=+X(2)+1 KE=X(1) CZ= LK= 0 FO=(X(3)+2) % (3%X (1) (3-1)

1. Cl=+X F2=X{Z}+1 KE=X{1) CIs LK= 0 FO=(X{3)+2) % (3%X (1)~ (3-1)

1. Cl=+X( FE=(Z)+1 KE=X{1}) (2= [K= { FhO={X(3)+2) % (3%X (1) {3-1)

1. Cl=+X{2 F2=2)+1 KE=X(1) (2= LK= 1 FD:(X(3)+2)*13*X(1)A(3—1)

1. Cl=+X{Z) F2=)+1 KE=X(1) CZ= LK= 0 FO=(X(3)+3) % (35X {1}~ (3-1)

1. Ci=+X(2)+ 2=+l KE=X({1) C3= LK= 0 FO={(X (3)+Z) % (3% (11"(3~1)

1o Cl=+X{Z)+1 F2=1 KE=X(1) (2= LK= 0 FD=(X{3)+2)%{3#X (1)~ {3-1)
13, FD= (X(3J+2)% (I {13 (3~-10)
Fg. 4.4
8190 RK=LK

8200 R$=RIGHT$(C1%,1)

8210 IF R$=")" THEN RK=RK+1
8220 IF R$="(" THEN RK=RK-1
8230 C1$=LEFT${(C1%$,LEN(C1$)-1)

8235 PRINT

8239 PRINT"2. Cl="3Ci%;" F2="3F2%;" RK="3RK;" KE="3;KE$
8240 KE$=R$+KE$

8247 PRINT"3. Ci=";Cl1%;" F2="3F2%;" RK="3RK;" KE="3KE$

8250 IF RK<>0 GOTO 8200

8260 REM f-check exp-p

8270 L$=LEFT$(F2%,1)

8280 IF L$="(" THEN LK=LK+1

8290 IF L$=")" THEN LK=LK-1

8300 KE$=KE$+L$

8310 F2%$=RIGHT$(F2%,LEN(F2%)~-1)

8315 PRINT "4. Cl— "sC1$s3"  F2="3;F2%3" LK= "3LK;" KE=";KE®$;" C2=";C2%;" LK

=";LK;"  FD=";FD$
Fg. 4.5

9210 IF C2$="" THEN FD$=FD$+POS+"* "+KES+"("+P0OS+"~1)"160TO 9230

9220 FD$=FD$+C2%+" %" +POS+" % "+KES+ " ("+PO$+"~1) "

9230 PRINT"11. C1="3C1$;" F2=";F2$;" KE=";KE$;" C2=";C2%;" LK="3;LK;" FD="sF
D$;" PO=";P0$

T?}_‘F.é)
4.5. Eip2s® (NVEwron, NUM)
OkKUT w1, b2 5 hrdbi@a szt e =2 -+ 3%
<9f(*1))(*" -t)=-f(*x),  #=012 -, (4.15)
CEY, BEBLRE, a8 A a2 o 77;«;-;'1(&)‘/1); 4.4 B~ R R
A b ) 3N Ko 2554 e BBA A E 9K I & 5 Y, T neH
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GAUSSosh%h  E9RR T, 2, HRRH)EE «frn:

e[ Lstmoseolice (4.1
TITTR. T v 2,
5. Hies
S TUE (4.0)  BLR & 3 JacohandTR e B w1, (2FFE vAR <, 1 aEE% 9
RN (SDCRT, "R, BT rv- 2 ErT3REHNERG €20 v 5y,
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SOLVE  f2
initial guess
EPS=+8.327D-01

EPS ¢ (44)a %G+ &b T.

f4 about x1 x5
X(1)=+2.000D+00 X(5)=+3.0008+00

in loop X(1)=+5.000D-01 X(5)=+1.917D+00
EPS=+1.402D-01

in loop X(1)=+9.500D-01 X(5)=+1.963D+00
EPS=+1.0060-03

in loop X(1)=+9.994D-01 X(5)=+2.000D+00
EPS=+2.455D-07

in loop X(1)=%+10.000D0-01 = X(5)=+2.000D+00

EPS=+0.000D+00
ANS

X(1)=49.999999999999980-01
X (5)=+2.00000000000000D+00

SOLVE fé
initial guess
EPS=+4.108D+00
in loop
EPS=+4.471D-01
in loop

EPS=+7.843D-03

about x7

X (7)=+3.000D0+00
X(7)=+2.296D+00
X(7)=+2.037D+00

in. loop X(7)=+2,001D+00
EPS=+2.560D-06
in loop X{(7)=+2.000D+00

EPS=+2.736D~-13
in loop
EPS=+0.000D+00

ANS

X(7)=+2.000D+00

X (7)=+2.000000000000000+00

(5.1)
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